1. Dual-zero Single-pole controller

fs:= 200 - kHz Calculation frequency
1
Ts:=—
fs
Kpc = 3.302x 107 s | £,:= 3kHz £, = 60kHz £.1:= 679.175 - kHz
Z()(fzo) =27 fZO Zl(le) =21 le pl(fpl) =27 fpl
P (S + Zo) . (S + Zl)
G_ZPZZ(KDc,Zo, Z1,P1, S) = KDC .
Zy - 71 S'(S+p1)

Do tustin translation , then: Dual-zero Single-pole controller

-1 substitute, z = invz !
2 1- o 33020.0
Gv2p2{KDC,ZO(fzo),zl(le),pl(fpl),T . z } simplify - GV_2p2z( ,6 - m-kHz, 1
- s
l+z collect, invz
4. fs
Kai(f)

) (KDC - mj . (zl(le) +2- fs)(zo(fzo) +2- fs)

2-fs- (pl(fpl) +2- fs)

(KDC . mj . [(Zo(fzo) + 2fs) . (zl(le) - 2fs) + (zl(le) + 2fs) . (Zo(fzo

2-fs- (pl(fpl) +2- fs)

pi(fp1)

l)j . (zl(le) - 2fs)(zo(fzo) - 2fs)

2fs - (pl(fpl) +2- fs)
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Kpa(Kpes f0. f1. 1) =

kot = Kay(fp1) = 0.171402
ko = Kaa(f,1) = 0.828598

koo = Kgo(Kpes£0.£1.fy1) = 3.456584



ko1 == Kp1(Kpe f0. 1. 1) = -3.247829

ka = KBZ(KDC’ fZO . fZl 5 fp1> =0.093146

-1 -2
kpo+ kpi-z  +kyz

-1 -2
l-kgyz -—kp-z

Gv2p2z(z) =

1. Dual-zero Single-pole controller----Reverse

kal := 0.1714023419
ka2 := 0.8285976581
kb0 := 4.1703226660

kbl := 59120992707
kb2 := 1.9495912223

4f; 1 _
pl= [ 22 _op]. — —679175x 10°s |
kal 27

2fs - ka2 + 2fs 1 5 -1
] = ———— |- — =6.79175x 10" s
R ( 1 — ka2 ) 27

kde = — KOO+ KDL+ KD2 a0y 10t

4 pl
[2fs- (pl + 2 - f5)]

1




2-invz —2
20 - v - kHz,4267.3823810036956455 - kHz, ————
T+ T-invz

)- 2]



